N = 0 &8 AFH Y & A AN
20228 = 13 LBEH HESAY
SN BEEAMD
M HESMEI|ISEE) FOMFHYTD
Sl AASA HES ALY (St
2 A .2 () - HEMNY - BHES 01l Ao IR Husz
HESA 6,760,261 6,392, 156 368, 105
[= 79,394 79,394 0
Al 6,680,867 6,312,762 368,105
HEsME)|tts=]) FUEABOTR 6,732,046 6,363,956 368,090
(= 79,394 79,394 0
Al 6,652,652 6,284,562 368,090
HAS A HEF ALY 1,276,715 1,014,625 262,090
(= 3,030 3,030 0
Al 1,273,685 1,011,595 262,090
Aasal 2L 820,860 808,770 12,090
201 LBt 322,819 331,729 28,910
01 AR 22| H| 7,519 16,429 28,910
O 2H| 4,019 12,929 28,910
oLG H2HIA HELE A=2B o 0 8,910 28,910
207 o RoH e 15,000 9,000 6,000
02 & AN EHH 15,000 9,000 6,000
OEMX ¥ & T2 2 15,000 9,000 6,000
401 Al Y2 20| 360,000 345,000 15,000
01 Al&H| 357,840 342,840 15,000
OCIXE 2ALHAIALY RE(FD})
15,000,000 15,000 0 15,000
OIS MEOotA =0 B X2 445,755 195,755 250,000
401 AlEHIZ 20l 200,000 0 200,000
01 Al&HI 200,000 0 200,000
O0t2 MEHMZ CCTV X 2 A
200,000,000 200,000 0 200,000
402 It X201 A 244,900 194,900 50,000
01 IR 2 AL E X (KM 244,900 194,900 50,000
O0t2 CCTV $2lH 150,000,000 150,000 100,000 50,000
ABI Y = 1,719,702 1,613,702 106,000
= 54,000 54,000 0
Al 1,665,702 1,559,702 106,000
EEANLH 2% 1,449,702 1,343,702 106,000
207 &R IH et 107,100 1,100 106,000
02 & &N EHH| 107,100 1,100 106,000
OSSZHMLHH MBS HAATEYN 7Y
12,000,000& 12,000 0 12,000
OIT 21t HoHZel SSHRMAA R
94,000,000 94,000 0 94,000
HERES(F3ESHD) 15 0 15
SAXNES(HEsSa) 15 0 15
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